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Model Paper

Part-A: 50 Marks, Part-B: 50 Marks, Total: 100 Marks
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General Instructions: red S
1) Read carefully and attempt all questions. U J’guvrv"mu:":;a,/i a

2) Encircle the correct option of each of Multiple Choice Questions ( MCQs) as shown in the
example given.below.

-{_y’gu’)ufdl‘#fd;éf L:,?Jﬂo/’b{.,lzg Lo dem 2,
Example: 2x 3 = 2x3 = e
a),L b) 2 03 6
3) Use black/blue ink for writing. Use of lead pencil is not allowed.
e et S LS G S e 1L L H 3
4) If more than one options are encircled in a question, no mark will be given.
-(Lla.l;)uf.‘/ /éﬁlﬂ;ﬁju’l»/ L..’;Llﬁuycuggﬂdlf‘f( g1 “

Total Marks: 50 | Part-A (Multiple Choice Questions) | Total Time: 1 hour
Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each

question carries two marks. LA Ly /,-.u,:zi%;..-,myg}s:'m ¥ (25) JES o ey

Questions ey Rough Work S
Q. No.1. Thirty million, ninety thousand, eight is written in figures as:
et Uy s HTed e et
a) 300,009,008 b) 30,090,008
c) 300,090,008 d) 30,900,008
Q. No.2. 2886 + 965 =
a) 3541 b) 3751 c) 3841 d) 3851
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Q. No.3. 74292 - 3004 =

a) 44252 b) 44288 c) 71288 d) 77296
Q. No.4.  Which of the following numbers will be used in the empty box?

2 Toulf L bdbe dawd g sg.

29
x 2 2
58
+ 5|:|0
6 3 8
a) 3 b)5 c) 6 d) 8
Q.No5. 10+5+5=
a) 10 b) 11 c) 15 d) 20
Q.No.6. LCMof1,2 3and5is: e P 106213 591321
a) 2 b) 3 c)5 d) 30

Q. No.7. Find the greatest number which exactly divides 26, 52 and 65.
</ f-?r l/;”l/g:f 6551522622 /(r)k' 5y A7)
a) 13 b) 26 c) 52 d) 65
Q. No.8.  Which of the following fractions will be used in the empty box?
ARG I R IRy 1174

3 5 3
a) — o) N c) = d) —
) g ) = ) ) n
1 .2
.N0.9. 1=-+1—-=
Q 3 3
1 2 3 4
a) - b) = c) — d) =
) 9 ) 9 ) 5 ) 5
Q. No.10. Look at the given figure. Which fraction represents the shaded
part of the figure?
1 1
a) - b) =
) 3 ) 5
3 5
c) — d) =
) 8 ) 8
Q.No.11. 22.1—1.97=
a) 20.07 b) 20.13 c) 20.27 d) 20.41
Q. No.12. 0.09x 10 =
a) 0.0009 b) 0.009 c) 0.09 d) 0.9
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Q. No.13.

Q. No.14.

Q. No.15.

Q. No.16.

Q. No.17.

Q. No.18.

Q. No.19.

Q. No.20.

Round off value of 6.487 up to two decimal places is:
-‘Lg}-'o; ~Jd/|.‘f"fl.?u»J 6.487
a) 6.46 b) 6.47 C) 6.48 d) 6.49

Height of a tree is 4.23 metre while height of a plant is 1.54 metre.
How much is tree taller than plant?

?‘a‘l(':ll';'fc.g;;&u-‘a}f 1-54(3[{';@/;;%’.?‘;/@ 4-238‘@;&;&5/;&{!

a) 2.69 metre + b) 2.79 metre ~

c) 3.69 metre ~ d) 3.79 metre ~

05=

a) 10% b) 20% c) 40% d) 50%

What is the ratio of number of black boxes to the number of white

boxes? e eV e S Suts - SIS Uil
a) 9:5 b) 4:9
c) 5:4 d) 5:9

Aslam participated in 80 matches and won 60% of the matches.
How many matches did he win?

0208 LL 1258 4460y o S UF 80V
a) 20 b) 40 c) 48 d) 60
Ahmad went to watch a match which started at 12:15 a.m. and

lasted 1 hour 45 minutes. Choose the clock face that correctly
shows the time at which the match ended.

P8 P P oy Al E o455 Lals f G 12:15:8.m. 2258 ik

—c\un g6 2556w

The price of 1 book is Rs. 200. The price of 7 such books will be:
LUt T A Utieg s 200 2301

a) Rs. 200 <. b) Rs. 700 &

¢) Rs. 900 . d) Rs. 1400 .

If the price of one dozen locks is Rs. 972 then the price of one such
lock will be: Sned§lrfieing 9722450k nlifi
a)Rs. 71 < b) Rs. 73 <. C)RS. 77 & d) Rs. 81 <.
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Q. No.21.

Q. No.22.

Q. No.23.

Q. No.24.

Q. No.25.

Angle shown in the protractor given below is:
..ﬁ:.d;l)ﬂb()ut /ﬂf/‘,{Z%;{;
<

[ /

a) acute angle  _snsbo

b) obtuse angle s>
c) rightangle .46
d) reflex angle ,,uug

>

The given shape is called. -‘LJU/‘PG(LS;

a) square & b) parallelogram {uweui$is

C) trapezium ss3 d) rectangle S

The perimeter of the given rectangle is: 4_»«‘)&” Jd:
a)15cm

b) 24 cm ?em
c)30cm

d) 54 cm 6 o

Maryam obtained 400 marks in 5 subjects. The average marks

she obtained in each subject are:
A S S obst fr i L Sl FROO A S
a) 20 b) 80 c) 395 d) 405

The tickets collected by four.girls are shown in the givenbar
graph. Observe the graph and tell which girl collected the least
number of tickets ?

U PRO M VA LV TEVEN.A (O Pl ABEEY

Ut
7

a) Ayesha § o
b) Tahira » 53 4]
o 27 37

c¢)Rani i § 1] I E
d) Kiran ./ 0 -

Ayesha Tahira Rani  Kiran

e TR o

Girls uy”
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